EAGRAROBREERT — 2 N— IBISH —F

2021568268 (£) EIBR#H3H

mﬂa% 3% KR B EEDE e
[A&4£] 1 7% :5,100,000 2 3% :2,000,000 M 33 :1,300,000 M 43 :770,000 @ 5 % :510,000 [
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
. . S 4 3 | fEKHE— 2:01.0 6-6-6-5 | 35.5| 86.4 | 1 482 | FBEZRE (ER)
1 3| Xy NELIL=FR 54,0 =) o | ® yrFoL-sry
RiHRLTHANAN By J—¥Tr— L
=l # 3 | RIUE—EB 2:01.0 10-10-10-9 | 35.0 | 86.3 | 7 452 | ALHEA (ER)
o J11| BV =T A= 56.0 (7457%) (+a) | AT
AT —ZX B:EILF—L ¥ Eh
S 4 3 | BERB 2:01.2 7-7-6-6 | 35.5| 84.4 | 6 510 | EAE (FH)
> MEEEETEEIN () 560 (1 1/2) (g | B 3XETa-T7—4
LNy vH—Ib B:T71—-L¥FF1 b Raikae]
= R PN :01. ~7-8- . . = (ER)
4lglig| 7—*—vo=z i 3 5 2(011)4 7-7-8-6 | 35.6| 82.4 | 5 zzgg) ?\ﬁ@m
R:/ g1V BiLIC LR HET7—L
R 4t 3 | BAUELF 2:01.8 5-3-3-3 |36.5| 78.7 | 2 506 | mE AN (3ER)
5012 |L7UYZR 56.0 2 1/2) (1g) | (B) &=7 K-
T4 =TA42NXU b B:RNY—LFTI1=— Blite
. > 3 | BREEN 2:02.2 2-2-2-2 |37.1|75.2 | 4 440 | FRBXE (FEX)
6 6| Fvo1— [B] - 56.0 @) (-10) | BIER
R:Fq =T NI N B:yvOut e
. N . =HE :02. -1-1- . . ARE (EXR)
W v w o | 288 B Rl A R Pl
RIET7xAT B:YRILAO— TR
SILA S . 4 3 | AEEZ 2:02.4 9-9-8-9 [36.5| 72.8 | 9 520 | EODRE (RR)
81510 VIbN—=)L/NO—X 56.0 (11/2) (0) FEREILR
R:ANTz—FIN B:TILEFHIER BREE 4%
i X . Fe 02, —3-3- 2| 72. EHEF ER
ol7l1al vamFoHny # 3 & 2(/70253 3-3-3-3 |37.2| 725 | 3 :1_824) ElE
L:Tw IRy b B3t S /ET RS
- i3 | FEEH 2:02.5 11-11-11-12| 36.1 | 71.5 | 11 456 | MIFEH (RR)
10 7 ¥E== ¥53.0 (74%) +8) EFEAR—IT 12T X (%)
R:F4—TA42IN7 b BESI DAL HET77—L
s = i 3 | BERE 2:03.1 12-12-11-11{ 36.8 | 66.3 | 13 | 474 |iEKAEH (B®)
112 v1=Yv7> 56.0 (31/2) +2) HEET
% XS BiR—LXA1— bk—L N
— MO R 4 3 | FIER 2:04.0 15-15-14-13| 37.2 | 58.3 | 15 | 374 |MR&BFZ (3RR)
12(815| =F~EQEAF 54.0 (5) (=) | AREASS
L:d—IRPy 7T Bk EQEAS pait e
e = E2MEE :04. -13-13- . . TERK (ER)
13 5| YL RTTy Yy i3 2a 2 (024) 3 13-13-13-14| 37.3 | 55.6 | 16 (?(1)8) i
R:TTy TR BiHYLRAH RS
o= AEAF 104, —3-3- . . Frrfnt (ExR)
1al5] g | 7RE—~NF 4t 3 R 284)5 3-3-3-6 | 39.1| 56.9 | 10 a:gg) M
RLN—E>Tv— BTRE—E1—F7 XA INT 7 —L
LT e S 4 3 | =R 2:04.9 14-14-15-15| 37.4 | 50.2 | 14 | 442 | KIRERZ (FR)
151713 7> 7TV vy TELR %50 5% pallps
LT TANVE BT UyIn=y BHR&EE 72TV InNL—
N T o3 | ERED 2:07.7 16-16-16-16| 36.3 | 20.0 | 12 | 486 |EZWES (RR)
1611 |y FF7AX 56.0 (21%) () ) ERA—AL—ST
L:NnN—=v9754 B:H>rK/O-2x T HiE
@ 71 L
) 48.0-35.9
NA> &AL | 13.0-11.2-12.1-12.2-12.1-12.4-12.1-11.7-12.1-12 .1
® I —F—EBIERL
1T=7r= (x8,6) (9,14)2,3-(4,16)-10-11,7,12,5-13=15-1
2a=5= 8,6(2,9,14)3-(4,16)-10-11-7,12,5,13-15=1
30—+— (x8,6) (2,9,14) (4,3) (10,16)11-(7,12)-5,15-13=1
43 —F— (x8,6) (2,14)3(9,4,16) (10,11)12,7-15,5-13=1
[ N3
BB 3 1904 714K 3-11 780M ) 2-6 1,870M 3JEHE 3-4-11 6,000/
8 B 3 110M 3-4 480M B = 3-11 2,230M K31 3-11-4 22,270
1 280 4-11 3,140M| | B H 3-11 3,340
4 310H

ARICOVWTRDTEEERROODE. TR LIV,




